

















































































Math 1450 Calculus 1 Wed Sept 3
mum

A

E Graphing calc allowed for exams activities

Tyoureally only need a scientific
calculator

nothing with wifi capabilities
First HW due Th Sunday Sept 7 1159pm
First quiz tomorrow no calculators for quizzes
Tourewebsite

jaypantone.comMath1450elm I.fit
Today verbatim

from
1.4 Logarithmic Functions suggested Wednesdays 2 3
1.5 Trigonometric Functions homework HelpD_eskt
1 6 Powers and Polynomials







































The Help Desk is now open

You can come to any of these scheduled times

3ʳᵈ floor of Cudahy table near the bathrooms




















































































Sectionl4 LogarithmicFunctions

Logarithmic functions are the
inverse

of exponential
functions

this means they are

the reverse operation like
is the reverse of

Fff Dna
assuming
azo

f 2 Igexlogat

So log undoes exponentiation




















































































Ex Solve 5 2 What two whole s is
the answer between

Ilya 12

2 4
23 8

log
2.3219 will be between 2

and 3
means the
such that if you
raise 2 to it
you get 5




















































































When the base is 10 it's common to write
just log instead of logo

2.71
When the base is e we write In and say
naturalog

In loge




















































































CofBasefamula
You

can rewrite loga x as for any c

Useful if your calculatorjust has a logo button

logals if




















































































Patelogarithms for any base a

1 loga x g loga x loga y
Why Do a to the power of each side
Éxponents atty at ay

allogalty allogactylogalyI
fax facts all C

xy x y




















































































2 loga F loga x loga y
Why Do a to the power of each side

Exponents a

You try




















































































3 loga XT y loga x

Why Do a to the power of each side

Eets 9 ax y

You try for practice




















































































4 lq X 5 14am

Because logs are the inverse

functions of exponentials

log7 73 3

3 3

In e
3 3




















































































Group Work if time

Simplify LLABJ log.lt eftEflogio

A Togo BFlogio A logo c In

2l A logo B 11A logo c 2

10910117 10910113 109,0 4261

logo A B C 2




















































































Domain 0,0
Range b ashapofalot

log.lt if at
off to is slowly

2 loga 1 0

why

90
t

vertical asympt to is

at 0

logan
is
undefined

loga x
where

20

also undef




















































































g

Shapeofalog

Y logalt if Ocac
example logy x

z
10

Same domain
and range as

the last one




















































































Examples 14.235 0.03 t

Suppose the population of Burkina Faso is

estimated by the function P A 14.235.100337

where t is the number of years after2007
and PCA is in millions of people
When will the population reach 30 million
For what value of t do we get P A 30

14.235 1.03
t 30

1.03
ᵗ
1

Answer 2032

Elliot log o3 1 35
t logos 1 35 1 1 5 25.2201




















































































SuggestedHI 1,25 7,8 10,15 25 27 36,37 41 64 66




















































































Sectionl5TrigonometricFunctionI
There are two units of measure for angles
degrees and radians like feet vs meters

A circle has 3 or Teradians so the conversion
factor is

degrees 326 radians

18 radians

radians degrees




















































































deg
18 rad rad deg

ᵈᵗ

45 radians

1rad 57.30 degrees

I radian 1 1
degrees




















































































The point of radians is that they correspond
to arelength for a utile radius 1

full circle 2Hradians 2H circumference

1 Tk
r

radiant grad
I




















































































Angles technically have a direction Positive angles go
counterclockwise negative angles go

clockwise

Iradian

I radian




















































































sineandcosines

As you spin a point around the outside of a

circle the trig functions cos and sin tell you
how the x and y coordinates of that point
change

Ii i


